PFS from 3 months by CTC count

ILC NST
Cut-off 25 CTCs at BL and 3 months Cut-off 5 CTCs at BL and 3 months
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Follow-up, months
Follow-up, months Number at risk
Number at risk -/- 43 31 20 10 4 3 0 0
/-5 5 1 0 0 0 0 -+ 11 0 0 0 0 0 0
+-15 9 6 1 1 0 0 0 +-22 14 9 3 3 2 1 0
+H+ 7 4 3 1 0 0 0 0 +H+ 7 1 1 0 0 0 0 0
Cut-off = 20 CTCs at BL and 3 months Cut-off 2 20 CTCs at BL and 3 months
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Follow-up, months
Follow-up, months Number at risk
Number at risk -/- 57 41 26 1 5 4 1 0
--10 10 6 1 1 0 0 0 <+ 1 0 0 0 0 0 0 0
+-14 8 4 1 0 0 0 0 +-12 6 4 2 2 1 0 0
+H+ 3 0 0 0 0 0 0 0 +H+ 3 0 0 0 0 0 0 0
Cut-off 2 80 CTCs at BL and 3 months Cut-off 2 80 CTCs at BL and 3 months
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Follow-up, months
Follow-up, months Number at risk
Number at risk -l-64 45 28 12 6 5 1 0
--15 12 8 2 1 0 0 0 <+ 1 0 0 0 0 0 0 0
+-11 6 2 0 0 0 0 0 +-7 2 2 1 1 0 0 0
+H+ 1 0 0 0 0 0 0 0 +H+ 1 0 0 0 0 0 0 0



